LockMaster i

dingle Swing Gate Oygener
User's Manual

[ EK 280
EK 365
_EK700M

\

* Please read and follow all warnings, precautions and instructions
before installation and use.

* A 24VDC battery (NOT INCLUDED, 2PCS 12VDC batteries can be connected
in series to become 24VDC) is required to power the gate opener. Adapter
which is included in the package is used to charge the battery.

* Never connect the solar panel to the control board directly to charge
the battery.

* Periodic checks of the opener are required to ensure safe operation.

Q‘ Save this manual. v

VER 18a




Table of Contents

Safaty InstaftionliDOMMAOME R, 60 e €7, "8 ot pr gD imTon gul 1

B P = e e O CURERREND
EK365/700M Parts T e e 3
Optional st de 5 Lol odediad gL LT 4
T T b e e RN N SR NI e oot e OO A S 4
TechiicaliSpecificalons & Features.......SeMES LOTE o i 5
StAllGHONIOUBIVION e Gl BB il o o SR 6
Preparation for I e e L i i L 7
Installithe CatoOpench onithelGAte,. . .ol st o BBl 0 o s 7
Mountingjof tEICBIMIORBOR. oo Sl it m il i e it 12
Connection/ofithelpoWer SUPPIYE - seotmn ol i vln Bt e nssesiBsiridh mssasinds 12
Connectioniofithe.control board:.......ccx.. Sm e, wou S s 14
How to Programithe: REMOB O tNE OPBNIEN..........cuce.ce mevzssisemimesssessusssssessmsessssossisssessasmsaiismsasessessssisomdossomssssissssansson 16
HowitolErase’Allithe!Remote Codes. .ozt 85 Be B b Bl e feiiationniions 16
How to use the remote to operate your gate Opener.................coocuvveeeiececieeeceeeceeee e 16
Wireless keypadiprogramming.......cc mmes “5a B 2 e . veitbiio o Bt vosssfassssobossssruiobotsissasssssansasensstonssssitensronsss 17
Adjustingithelimit Switehi i i B e i s 17
Settinglofithe COMTOIBOANT ... 8 i ittt i nssmbienaasr i To s S aes e i her Se A T oramsan S seobinsstinonsensne et s S 18

TroUDIe! SNOOUING s isusssinsesinckinssmmsissns omssrssssiys ioesssesssass s T8 6o s T T st e S A st 19



Safety Installation Information

1.
READ and FOLLOW all instruction.

2. The gate o is i
pener is intended for i

vehicular swing gates. Nt b
Cl i
’ \::l? | denotes a vehicular gate opener (or system)

Ings, or a garage or parking area associated
therewith.
Install the gate opener only when the opener is

T I ' | I I on ar Id tl e uSage ClaSS 0|

3. Gate opening system designers, installers and

users must take into account the possible hazards
ass.ociated with each individual application. Improperly
d.eS|gned, installed or maintained systems can create
risks for the user as well as the bystander. Gate
system design and installation must reduce public
ex?osure to potential hazards. All exposed pinch
points must be eliminated or guarded.

4. A gate opener can create high levels of force |

during normal operation. Therefore, safety features
must be incorporated into every installation. Specific

safety features include safety sensors.
5

gate opener.
6.

The gate must be properly installed and work ‘
freely in both directions prior to the installation of the |

The gate must be installed in a location so that

| use on any pedestrian gate. pedestnans mus
- supplied with a separate pedestrian access: ensors
9. For an installation utilizing non-cont t:n the
| |
(safety sensors), see product MARE ) for

safety sensors

placement of non-contact sensors (
| each type of application.
a. Care shall be exercised to red!
| nuisance tripping, such as when @ V€
 safety sensor while the gate is still moving-

b. One or more non-contact sensOrs (safety oo f
" shall be located where the risk ©Of entrapment ©
obstruction exists, such as the perimeter reachable 2
a moving gate or barrier.
10. Never mount any device
opener where the user can reach over
" or through the gate to operate the ¢on
are to be placed at least 6' (1.8m) from any pa
moving gate.

rs)

that operates the gate

under, around
trols. Controls
rt of the

Meeh

|

enough clearance is provided between the gate and ‘

adjacent structure when opening and closing to ‘

reduce the risk of entrapment. Swinging gates shall
not open into public access areas.

7. The opener is intended for use only on gates used
for vehicles. Pedestrians must be supplied with a
separate access opening. The
opening shall be designed to
pedestrian access shall be located such
h the moving

usage. The
that persons will not come in contact wit

vehicular gate.

S TR
R
W6

hould never cross the pathway of a |

Pedestrians S
not acceptable for ‘

gate. The gate opener is

8.

moving
1

pedestrian access |
promote pedestrian ‘

11. Controls intended to be used to reset an operator
after 2 sequential activations of the entrapment
protection device or devices must be located in the
line of sight of the gate, or easily accessible controls
shall have a security feature to prevent unauthorized
use. Never allow anyone to hang on or ride the gate
during the entire travel of the gate.
12. Each gate opener is provided with two safety
warning placards. The placards are to be installed on
the front and back of the gate where they are plainly
visible. The placards may be mounted using cable ties
through the four holes provided on each placard.

All warning signs and placards must be installed

where visible in the area of the gate.




locating companies BEF
SAVE lNSTRUCTION.

13. To AVOID damaging  9as, power, or other

underground utility fines. contact underground utility
ORE digging,

& WARNING

To prevent SERIOUS INJURY or DEATH from a moving gate:

« Install warning signs on the front and back of the gate in
PLAIN VIEW.

« Permanently secure each warning sign in a suitable manner

EK280 Parts List

using fastening holes.

14. Do not permit children to play on or around the

! gate and keep all controls out of their reach.

Gate Opener (1 pc)
<EK 280>

CE Remote Control (1 pcs)

&p -~

Control Box (1 pc)

=

Release Key (1 pcs)

AC Transformer

Battery Cable | Post Bracket | post Pivot Bracket

v

Gate Bracket

(1 pe) (1 pe) (1pc) (1 pe) (1 pc)
Hardware
®10 Washer (5 pcs) M10x200 Bolt (2 pcs)
@, =
®10 Lock Washer (5 pcs) M10x75 Bolt (2 pcs)
y

{
Nxes

®8 Washer (1 pc)

T

M10x30 Bolt (1 pc)

G

M10 Nut (5 pcs)

I

M8x30 Bolt (1 pc)

©

| M8 Nut (1 pc)

|

12x40 Clevis Pin (1 pc)

==

Hairpin Clip (2 pcs)

]

12x30 Clevis Pin (1 pcs)

.

N




|

EK365/700M Parts List

Control Box (1 pc)

Gate Opener (1 pc) Gate Opener (1 PC)
<EK 365> <EK 700M>
&~
CE Remote Control

(1pc for EK365 / 2pcs for EK700M)

=2

Release Key (1 pcs)

Warning Signs (2 pcs)

o

AC Transformer | Battery Cable | Post Bracket | Post Pivot Bracket | Gate Bracket
(1 pc) (1pe)

v

(2 pes) (1 pc) (1 pc)

Hardware

£
A

P10 W sher (7 pcs)

M10x%200 Bolt (4 pcs)

®8 Washer (1 pc)

~

O e
®10 Lock Washer (7 pcs) M10x75 Bolt (2 pcs)

C ===

\eeks

M10x30 Bolt (1 pc)

@

M10 Nut (7 pcs)

I

M8x30 Bolt (1 pc)

©

M8 Nut?1 pc)

|

12x40 Clevis Pin (1 pc)

—~

Hairpin Clip (2 pcs)

]

12x30 Clevis Pin (1 pcs)




oOptional Accessories Parts List

Back up baﬂefY (1 set)

-v‘

5

Back up banery box(1 pc)
(LM130)

Solar Controller (1 pc)
(LM117 / LM118)

Optional

Electric Lock
(1 set) (LM149)

Wall push b;mon
(1 pc) (LM147)

0

E )

Wireless Push Button
(1pc) (LM173)

Alarm Lamp (1 pc)
(LM140)

Photocell Beam System
(1 set) (LM102)

Exit Wand
(1 pc) (LM157)

Solar panel (1 pc)
(LM109)

Supporting frame for solar
panel (1 pc) (LM115)

Bracket for solar panel
(1 pc) (LM116)

A

Wireless Keypad
(1 pc) (LM172)

Wired Keypad (1 pe)(LM106/24)
ID card (LM170)

(-ﬁ

Mounting post
for keypad
(1 pc) (LM107)

PSO Part
(1 pc) (LM112)

GSM Remote ControlSwitch
(1 pc) (LM182)

Retro-reflective Photocell
(1pc)(LM104)

Tools Needed:

* Power Drill
* Tape Measure

* Open End Wrenches — 14# &17# or Adjustable Wrenches

* Wire Strippers

* C-Clamps — small, medium, and large

* Level

* Hacksaw or Heavy Duty Bolt Cutters

* Phillips Screwdriver

* An extra person will be helpful




Technical Specifications & Features

Specifications

EK 280 EK 365 EK 700M
Input: 120V/60Hz or 230V/50Hz RN e
Motor voltage: 24VDC b tn semy C S
Power: 30w 50W [ _BOW g
Current: 1.5A 2A ___/Ef‘/——/
Actuator speed: 16mm/s
Max. actuator travel: 385mm

Ambient Temperature:

-20°C~ +50°C (-4°F to 122°F)

Protection class:

IP44
Gate Capacity of EK280
~ | 140kg v NR NR NR NR
§ 90 kg J J J NR NR
o 70 kg v J J o NR
8 [ 50kg J y J N N
1.2m 1.8 m 24 m 3m 36m
Gate Length
Gate Capacity of EK365
250 kg J NR NR NR NR NR
= | 200kg J J NR NR NR NR
<
2 | _160kg J J J NR NR NR
= | 110kg J J d J NR NR
£ | 70kg J J J J J NR
O 50 kg J J J J J J
12-1.8m| 24m 3m 36m | 43m 5m
Gate Length
Gate Capacity of EK700M
380 kg 7 NR NR NR NR NR NR
340 kg ¥ J NR NR NR NR NR
£ [300k J J d NR NR NR NR
‘% 250 kg A J v J NR NR NR
= %00 kg J J v J J NR NR
= : J J J NR
@ | 160 kg J J J !
© T110kg d J J J J 7
12-1.8m| 24m 3m 36m | 43m 5m 5.5m

Gate Length




Features:

Soft start and soft stop « Built in adjustable auto-close (0-100 seconds)
« So

i ow in max. Motor running time (MRT) for
« Emergency release key in case of power L Built in

Fast selecting push/pull to o multiple safety protection (40 seconds)
. pen

bie i lectromagnetism limit for easy
« Stop in case of obstruction duﬁng gate opening ‘ Reliable e g
i " | adjustment
. rse in case of ob : X
e o NG, G « Can be equipped with a wide range of

closing. ;
| accessories
Installation Overview
Single Gate Overyiew a RNING
Pull-to-Open Gate To prevent SERIOUS INJURY or DEATH, at least one
non-contact sensor should be located where the risk of
entrapment or obstruction exists.

Left-Hand Gate “\\\s‘\uv\\\“‘\‘l

Right-Hand Gate




Preparation for Installation

There are two installation types for the gate opener, Pull-to-Open and Py
in the push-to-Open installation, gate opens out from the property. A l:h-tho-ODen.
. us!

rt) is
required to be used for each gate. -To-Open Bracket (PSO P4 )

NOTE: Ensure the gate does not open into public areas

The gate opener is mounted to the gate and to the gate post. Both round ts can be g
because the Post Brackets are curved. When mounting the Post Bracker: St f\ough taipess
through the entire post. M10 x 200 bolts are included. Concrete anchors are :' ¥ t?O"S e

when mounting the Post Brackets to wooden posts, a larger-size washerOt Lo te should berusec
petween the bolts and the wooden post to ensure the stability of the fastenin or: ";etal pl?f The post is smaller
than 6" diameter or square, it should be made of metal and set in cement to er?su?c: itv:asrt:bilit‘/~

Concrete Post
............. M o
_____________ ) o

Metal Plate
e

\/_'
Post Bracket

\

Post

Bracket Post
Pivot Bracket

Wooden Post

Metal Plate
N

| 7 =
N Pivot Bracket

/ Post
Wooden Post Bracket Eost

5 Concrete anchors
ivot Bracket (Not provided)

Install the Gate Opener on the Gate

The position of Post Bracket is very important. The following illustrations and tables are required to determine
the proper mounting position for the Post Bracket. The tables show the maximum opening angle of the gate for
a given Aand B. For example, if Ais 15cm and B is 20cm, the maximum opening angle of the gate is 110°.
Pull-to-Open Installation — Gate in Closed position (Moving-Rod is extended)

| Oulside Property
=)
Post Bracket —
Post Pivot Bracket \ l, nside Prope ny’ open Dk
S - -
T assom | Asfom | A=iOcm | A=tlem A=t2em | A=tdem [ Actdem | Actiom | Actiem A={Tem _Ajsﬂcm*‘l‘ A=tgem | A=20cm %AE'Z{C.@ _Aim:n'
g | | | W | | w6 ] fe] o o 5 |

Betgon | 90' | R . | W | B T 1
B=20cm | W W % | % | _1,03',!_#107;,&& ﬂﬂl‘i.iﬁ—j%’u’« .
o | o |8 [ 5 | o [ W | Wl WL P w | o | W] LWL

g2tem | O1° | 1 ‘ | | N L = - 4 ;
v e O I A A T w | w| % ,_T/:g?/;::;%&lij;,,,f —
o e | W | W | | ] & . L e o

, | & ) T | o | % | o g5 P (N S e
B=2dem | 90° | % | & W | ,,9_TL Tl ~ .
S i e B e -‘w~\:
T w [ w | w | e | W
Balm | S [ 62 | ) o | A& R e =

en | o |0 W ||




Push-to

.open Installation — Gate in Closed position (Moving-Rod is retracted)

Open Direction

| Oulside Property

Bgem | 90° | qop°
B=ffem | % 98°

= Inside roprt
| AstOem A=‘2W7[7A=14cm7 AtGem | Asfgem | A<em | A<2m ,1,.‘,‘:24“” | A=26em
me | o | o | e | 08t | 9 | 8¢
R S N 7 O A [ S

Betien | W g
Btsem | 9| gpr |
Biem | % g |
Bsfdkem | % g5 |

|
—

777777 i thAr‘. 04 94° L_bi
1050 112° | 109- 1 gr 89°

04010 | e
0 1
T T

orr | |

000 6 | e | s

@ | w [ e | |

Sl W] o
w | & | k|

8" j B |

1. Insert the M10 x 30 bolt through the center hole of the post bracket and post pivot bracket as shown. Place a
¢ 10 washer, ¢ 10 lock washer and M10 nut on the bottom of the bolt and hand tighten.

EK 280

M10x30 Bof

Post Pivot Bracket

Post Bracket _1

@10 Washer —
@10 Lock Washer —

M10 Nut—— (&

Post Bracket Assembly

It —»
ﬁ ﬁ<—MB~3O Bolt

é @ <— @8 Washer
e D -=—M8nNut

EK 365/700M Post Bracket Assembly

M10x30 Bolt —>ﬁ

ﬁ<— M8x30 Bolt

Post Bracket

Post Pivot Bracket

Post Bracket —«

®10 Washer —| @ <— 8 Washer
10 Lock Washer —! o B <—M8Nut

M10 Nut———» &

2. Attach the gate bracket and post bracket assembly to the opener by inserting a clevis pin. Secure the clevis
pins using the hairpin clips.

Clevis Pin
12x30

Post Bracket Assembly '

EK 280

Rear Mount

Clevis Pin

Rear Mount

i Clevis Pin

Gate Bracket

S
\ ==
Post Bracket Assembly
/ = e / Front Mount \ :
\Hairpln Clip EK 365/700M \Hairpzn Clip Hairpin Clip




3. Open the release hole plug on the top of the gate opener, |

release key, and turn the key 90° clockwise. This re|eas:s t:r, s
allows the push-pull rod to be manually extended and etm°t°f iy
restore normal operation, turn the key 90° Cou”tErclockwisere racted. Tc

4. With the opener fully retracted and with the gate in the full

position (for Pull-to-Open installation) or fully closed osl'lt'y °pfe"
Push-to-Open installation), place the gate opener w::h ltr::nli .
Bracket Assembly and Gate Bracket on the gate post and the C:S‘
Position. the Post Bracket Assembly and Gate Bracket so that theg:a!t:
opener is level. While holding the gate opener in the level position, temporarily secure it with tWo C-clamps-

% —

Post Bracket Assembly

SEETC
Level Opener Gate Bracket

Fence Post [~ i open Position for Pull-to-Open Installation
Gate in Closed Position for Push-to-Open Installation

Post Bracket Assembly

Level Opener : Gate Bracket

Fence Post [~ Gate in Open Position for Pull-to-Open Installation
EK 365/700M A Gate in Closed Position for Push-to-Open Installation

9




5. Make sure that there is @ Minimum clearance of 2.5cm between
and the Post Pivot Bracket are not binding in both the gate-open
m of clearance or if the opener and the Post Pivot Bracket are

least 2.5¢C
and/or move the Post Bracket Assembly to obtain the minimu

minimum cleara
ned holes in the Post Bracket and the Post Pivot Bracket.

alig

.

the gate and the opener and that the openg,
e closed positions. If there is not at
binding, rotate the Post Pivot Bracke

and eliminate the binding. When thg

m clearance
ace the M8 x 30 bolt through the

nce has been obtained and any binding has been eliminated, P!

CL:SaéTJigg:lTION Pull -to-Open

Pinch Area S,

(L5
NN
NaN
A
Be sure gate opener and X N
bracket are not binding )
\\ \\
 #44 )
o
\\ I7
\ /
\/
Pinch Area Gate in the
2.5cm (17) minimum
") OPENED POSITION

i

Gate in the T
CLOSED POSITION
Push-to-Open
£ 4 // % 5
/// “
L5507
(57
{257
L&
584
(o] 8
1‘ II 2.5cm (1”) minimum
< Tl /. —\
% 4 Pinch Area
V7
Pinch Area  2.5¢cm (1”) minimum \
4
N

Gate in the OPEN POSITION 1ES3

Sy S——



6. Sign the bolt-hole point on the gate

pracket and gate. Do this by placing a ﬂ
punch or a sign in the middle of each boll
slot on the post bracket assemblies and

middle

Mark fen
ha gate bracket. It allows slight T8l ol Erecke s
adjustments to the post bracket. Then and drill ©10.5 holes
remove the post bracket and gate
pracket by taking off the C-clamps. z

7. Drill 10.5 mm diameter holes through 2 .

the post and the gate at the marked i
locations. U Post Bracket

8. Attach the post bracket assemblies to SsE

ate i i
th:s? Fasptosts by hlnsemn.g M10 x 200 bolts through each post bracket assembly and the drilled
post. en each bolt with one @ 10 washer, one € 10 lock washer, and one ¢ 10 nut

Mark fe
and drill ®10.5 holes

Post Bracket
Assembly ‘EK’3>65/700M

nce post through
{ pracket slots

)

holes in the gate

9. Attach the gate brackets to each gate by inserting two M10 x 75 bolts through the gate prackets and the

drilled holes in the gates. Fasten each bolt with one ¢ 10 lock washer, and one ¢ 10 nut

o

Through the center of the gate bracket slots, mark the cross member.
Drill ¢ 10.5 holes in the marked position.

10. Cut off any part of the bolts that extend beyond the tightened nuts.

11. With the gate opener fully retracted and with the gate in the fully open position (for Pull-to-
or fully closed position (for Push-to-Open installation), attach the gate opener to the Post Brac
the Gate Bracket by inserting a clevis pin through the gate opener
hrough the gate opener and the Gate Bracket. Secure each clevis pin with a hairpin clip.

L4

pin t

Open installation)
ket Assembly and

and the Post Pivot Bracket and another clevis

q Post Bracket Assembly

bolted to fence post

Gate Bra

Clevis Pin, Hairpin Clip

Fence Post '
Pull-to-Open: Gate is open

push-to-Open: Gtae is closed

S

‘to gate cross member

Clevis Pin, Hairpin Clip

cket bolted

EK 280

11




TN
q Post Bracket Assembly '\/—\\
bolted to fence post

<

\
lI Level Opener C\J C\
‘.’ e m
A&: ..'<‘ \ to gate cross member
Il - ‘ﬁ\ =S —=

1 > o

7

v g
™ Clevis Pin, Hairpin Giip - :
Fence Post Clevis Pin, Hairpin Clip
~— i Pull-to-Open: Gate is open
EK 36M00M 5 Push-to-Open: Gtae is closed

12. Open the release hole plug on the top of the gate opener, insert the release key, and tumn the key 90°
counterclockwise. This restores normal operation.

Mounting of the control box

Use 2 deck screws (not provided) to install the control box. Even though the control box is waterproof designed,
for safety reason and a longer service life, it is recommended to install the control box inside a secure surface
and at least 100 cm (40 inches) above the ground to avoid being flooded or buried under snow.

Py a
..;‘;} @
b Swing Gate Opener |
Rated Voltage: DC 24V }
» Recelve Frequency: 431 92 MMy { (
[!Q B CE 2 wu yﬁ
/T"ﬂ
& )
| =
- T - ';
»

Connection of the power supply

A The gate opener is powered by 24VDC battery (Not included). 24VD(€ battery is required to be

installed with the gate opener. You can connect 2 PCS 12VDC battery in series to beo:ome 24VDC. The

following diagram will show you how to connect 2 PCS batteries in series. Th? charging type could be

either Adapter or solar panel. Also the two can charge the battery at the same time. Please note the wire

connection of them is very important. Incorrect wire connection will d'amage the control board.

A\ The battery should be waterproof type or you should place them in a waterproof case.

A\ Please ensure other wire connections are completed before connecting the power supply.

Please refer to the illustration “wire connection of the control board” to connect the battery and Adapter'to the
control board. The “24V+” of the battery should be wired to the BAT+ (#11) terminal, “24V-" should be wm.ad to
“BAT-" (#12) terminal. The wire (2*0.75mm2, 1meter long) for connecting the battery has been provided

12




and connected 10 the control board in factory. Adapter should ;
s of the control board, no matter the polarity. be wired to the

te i ‘ f h 'l ()l tl e adapte' S I 5”| 1 h oX S
the wire i : i C (ol I
h (o) ! * (5 )' SO if t e distan e beMte th tl t a”d the Ont Ol b i
e outle

«ADAPTER” (#13, #14)

™
7

The lengt s
t, you should us i
orae” 0 & 316AWG If (he Zn extenc?ed wire to connect the adapter to th The wire size
should b€ at Iea.s . e distance is more than 100m (300'), the wi .e control board. The WG
maximum distance from the adapter to the control box is 300m (1'000‘;Nlre size should be at least 14AWG.

The

\er
o)

voltage
gontrol box fron) adapler

24Volt automotive or mari
ne t
battery in water proof housmgype
(not included).

If you want to use an optional solar panel to charge the battery, a solar charge controller must be used to control

it to charge the battery. You can connect the .
Rl G 9 solar panel and the solar charge controller refers to the following
illustration.
24 2
Ky\%“’l"‘\ ‘V%p‘"“ % .2‘y’°‘"Pﬂ,no_l % jz“‘{'“?'-"wn,ﬂ i
® \@ ®®
v \S S ; . ’,-.‘ g, 3 \ L ~‘,'_ e 3
- \‘:f:-z::'- 5 Tzl . e’ Fote
GND ¢ LOCK - + BAT - S 24V Solar panel s required 1o charge the battery. The solar panel can be
in parallel 1o ncrease the charge current.
MAX Power of the Solar Panet 240W (for 24V Solar Panel)
Battery Solar Charge Controller
P7 Reg o 54y )
4+C +
Qo
ellow o %,,Q
12voC 12vDC Yo
Red
+r Require 2PCS 12V batteries to be \j
connected In series to become 24V A\NOT CONNECTED NEVER short the two wires of
the "Load" termanal

nnections are completed. Use a surge

utlet after all the wire co
is located outdoors, outlet and adapter

You can plug the adapter into the electrical o
ded. If electrical outlet

protector with the adapter is strongly recommen
should be protected by a weatherproof cover.




Connection of the contrg| board

BHRARHAH
@ BEs o,

E D@

@

VOOeeere||loo||neleeco||[eoad

C— ———————
+24 PHOTO GND 0/5,C com opsw EDoE orD

@ + LOCK - + BAT - ADAPTER + LA - + MOTOR - DLAT cOm ULMT
T L ©
ZLUE @/ /'_“Q\‘ Ressrend
RED /—"\ )
\—f'\—o
P = %
@ @5 gl 3| 2| 8| 2
- Actuator
19 T4
J1 of Lock Plus Q i g
T
NS5 D
N 3
WHITE
TJ3 RED
i a Alarm Lamp
L1
o B
2
T
Reeriﬁr v?afrﬁueless E ﬂ w

+ ~
Emitter  Receiver 12vDC 12v0C
Photocell Push Button
Battery
1. Actuator

Insert the stripped cable wires into the appropriate terminals on the opener terminals block. The red wire should
be inserted into the “+MOTOR” terminal(#17), the black wire into “MOTOR-" terminal (#18), the blue wire into
“DLMT"” terminal(#19), the green wire into “COM” terminal(#20), and the yellow wire into “ULMT” terminal
(#21).

2. Battery (Required but not included)
The “24V+” of the battery should be wired to the +BAT (#11) terminal, “24V-" should be wired to “BAT-" (#12)

terminal. 2*12VDC batteries can be connected in series to become 24V.

14




ad apter (Only used. to charge the batteries)
3'5eﬂ the stripped cable wires into ADAPTER (#138&#14
g Lamp (optional) )

| g plar f the alarm lamp sh rte

b ire of the amp should be inserted i i

e d into either LAMP (# he othe
ﬂ] W ; (#15) terminal, the white wire into the other

terminals t
0 .
the control board. No matter the polarity:

one (#16 :
|| Beam System (PBS) (optional)

P
*"p.core cable to connect the “+ ~" i
Usea; (t:o the “GND"(#3) terminal. Also t;rmlna| of the photocell's emitter
mln ' e “+ ~” “ i rto the “ " ¢ “, "
: dto the «+24" and “GND" : , and “- ~” terminal e “+24"(#1) terminal, the
e e ble t terming's | paraliel S of the photocell's receiver should P°
_core cable s :
Use another ) : oct?nnect the “NC” terminal of the recei
gminel 0 "GN ()= elver to the *PHOTO"(#2) terminal, the “COM”
g Push gutton (optional)

ush button should be wired to the “ agypn
The P e “#4 and “#5” terminals. No matter the pol k
polarity. The gate operator works

anematew by pressing the button (open-stop-close-stop-open
7. Electric Lock (optional) )
lus board should
e d. The 2(wires of 3: ':Tmhased separately) is required to ¢
. 0 . onn i
G ater g il J;C:plus shou!d be wired to the “O#” and u10#3(:t th.e electric lock Itb d
om jriigaie Lt should be wired to the 11# terminal and yell srminal GEHOTOOCT #v d
. o e i i
to the should be connected to the red wire of el e ofolianeIelS
of J3 should be connected to the yellow wire of electric lock electric lock and also the yellow Wir®
8. Exit wand (optional) X
The BLACK wire of the exit wand should be connected into the “#5" termi
. i r
ire of the exit wand should be connected into the “#6” termf:'nlal.
. inal.
e of the exit wand should be connected into the “#11” terminal
nd should be connected into the “#12" term;na|
d sh i : g
ould be wired to the GREEN wire and the YELLOW wire of the wand. No

o the

contfol boar

The BLUE W
The RED wir
The GREEN wire of the exit wa
The sensitivity adjustment boar

matter the polarity.

9. Wireless Exit Wand (optional)

The “NO” terminal of the receiver should be wired to the “#5” terminal of the control b

The “COM” terminal of the receiver should be wired to the “#6” terminal of the con?ro!o:;:;d
eiver should be wired to the “#11” terminal of the control boar<.1.
412" terminal of the control board.

The “PWR” terminal of the rec
The “GND” terminal of the receiver should be wired to the

o] B b
@. E]EEI ol —Jo

+24 PHOTO G0 0/8.C CON OFS DO GO

Wired Keypgd Extemal Receiver
10. Wired Keypad (optional)
1he RED wire of the wired keypad s
The BLACK wire of the wired keypad should
he PURPLE wire of the wired keypad shoul

The BLUE wire of the wired keypad should be con

o the “#11" terminal.

to the “#5" terminal.
he “#5" terminal.
“H4" terminal.

hould be connected int
be connected in
d be connected into t
nected into the

15

™




11. External receiver (optional)

The RED wire of the external receiver should be connected into the “#11" terminal-

The BLACK wire of the external receiver should be connected into the “#5” terminal-

The BROWN wire of the external receiver should be connected into the “#4” terminal.

Note: Using of the exit wand, keypad and external receiver would cause the battery exhaused quickly,
Big capacity of battery and big power of solar panel (if the solar panel is used as main charger) is
required if you want to use either of them,

How to Program the Remote to the Opener

You must program the remote to the opener before operating. You ¢
remote to the opener.

Press and release the CODE SW button, the CODE LED will be ON, then pré
seconds, the CODE LED will flash for 3 seconds and then to OFF. Now the remote has been programmed

successfully.
NOTE: The button of the remote control should be pressed and
programming. Max. 10 remotes can be programmed for the opener. If you want program more remotes, you

should use an optional external receiver.
o‘. """. "”.
- [@ a | @] =
o San ¥ oo

TR

an follow the below steps to program the

ss the key in the remote twice in 4

hold for more than 2 seconds while

. GIED
© wwmmm
) B3N
a3t ®
Coot sW
sorn  ran e Fla;ﬂ
o5 ol L@

o

@HEE oo @ B

(L1 ] B CODE SW
00ee6e@0 o) -m-w-a@ IR
B e i) _—

How to Erase All the Remote Codes
Press and hold the CODE SW button until the CODE LED from ON to OFF. Now all remote codes have been

erased.

How to use the remote to operate your gate opener REMOTE

Each remote has four buttons, they are A, B, C and D. .
You may use this remote to operate as many as 4 sets our swing gate opener or 1 ‘ °

set our sliding gate opener and 2 sets our swing gate opener.

1. Use this remote to only operate swing gate opener
A,B.C and D four buttons share same function once they are programmed with . .
our swing gate opener. You may choose any button to program it with our swing g

gate opener. Every press of the button is able to active the gate opener to work
alternately (open-stop-close-stop-open).

16




 Use one remote to operate swing gate opener & sliding gate open

. iding gate opener have midwa : . er at the .

ol o s~h : te opener manual " r.node. B is designed to realize m; el details
( sliding 98'€ P nual). So it is must program A button wi midway function (refer o more

mrogfam either C button or D button with swing gate opener. on with sjj

p .

Wireless keypad programming

 can follow the below steps to program wireless keypad to the open il the
gD is ON, then releaSt.a thfe b}Jtton. Then press "OK" button one;:. Press the CODE SW bu.tton untlf 4
and therl be OFI: which indicates the keypad has been prograeypad and CODE LED will flash othe
word “888888" to operate the opener after programming. Yo mmed successfully. YOU ca:‘n use

confirm to operate the opener. . You can press “PIN" ‘8 888 8 8 and then

ding gate opener while you may

(i
cODE L
seconds
gefault pass
gress “OK"1©

ou can changé the password of the keypad fol )
ﬁ:;;syold password and,then press "PIN” aga?np, the (:l((;v:)ltihi;;lml i‘:igﬁPress “PIN".anq t.hen e theWosrl);
and then press the “PIN" to confirm the new setting, CODE LED will flash f . Input the six digits new pFans -
indicates the password has been changed successfully. You can press up|°Nr ”3“Se<?,o.nds and then be O dwthen
press .oK" to confirm to operate the opener. 6 digits new password" an

o
@
e

O

Wireless Keypad

NOTE: Every step for pressing button during program must be finished within 1 second to ensure successful

programming.

Adjusting the Limit Switch

The position of Limit Switch A was
fixed in factory, do not adjust it again. S R
Plug on the power to running gate | RE- .

opener, use a screwdriver to loosen
the screw of Limit Switch B, slide Limit
; s Limit Switch B
Switch B to the desired closed position
: Magnetic Ring sttt
and fix it. Limit Switch A

Limit setting for Gate 1 is finished now.

NOTE: Always place the magnetic ring Switch Aand B

petween the Limit

™




setting of the Control Boarq

WARNING: Ensure the gate opener is power Off when you make any adjustment of the gate opener.
Keep away from the gate during you set the gate opener system in case of the unexpected gate moving.
Carefully adjust the DIP SWitches to ayoid the risk of machine damage and injury or death. Always ask
the help of professlonal technician lelectrician if you have any question.

1. DIP Switches
The DIF swilches used to select pull/push to open, enable/disable auto close function, enable/disable
photocell function.

Oaf\ w'

U oo U e

e 2 .GFED
é SR B3/ 5\ ¢
S el

1 : ﬂ g (e cooe sw
&3 i @u@u@_@ury
o0 ‘.6’ (e .
w oy
2 2% E @Hﬁﬂﬂ:ﬂm‘&nﬁmﬁ
ON '@ 868 o @ m

POWFR.

i!! P000000® mnm@ Gollceees
T I;l ST

\ ~©

DIP Switch #1: Select push/pull to open

If the gate opens into the property (pull to open), the DIP Switch is set to OFF (factory default setting). If your
gate opens out from the property (push to open) the DIP Switch must be set to the ON position.

Factory default setting is OFF.

DIP Switch #2: Auto close function enabled/disabled

ON - Auto close function enabled

OFF — Auto close function disabled

Set the switch #2 to ON to enable the auto close function. Factory default setting is OFF.

DIP Switch #3: Photocell function enabled/disabled

ON - Photocell function enabled

OFF — Photocell function disabled

You must set the switch #3 to ON to enable the photocell function if you want to use the photocell with the gate

opener. Factory default setting is OFF.

2, Potentiometers
There are 3 potentiometers located in the control board. They are used to adjust the stall force, auto-close time

and soft stop period.




E‘ g‘)\\nm.m“

l ‘@ HEE o

*

‘ N RO B8 BAK (0 e (D B
©

er Ais used to adjust the stall force the gate o ST

. pener. Turn i i i P
and turn it counter-clockwise to decrease the stall force e TR o

Jantiome!

P all force 8" '
P‘,(.,ntlonr“‘-te’ Bis used o adjust the auto close time of the gate opener. Tum the potentiometer cloCkWiS® to
(2858 the auto close time, and turn it counter-clockwise to decrease the aut po. . to close time

b adjusted steplessly from 3 to 120 seconds. o close time. The auto
potenﬂ‘““ete’ C is used .to adjust the soft stop period of the gate opener. Tum the pote ntiometer clockwise to
e soft stop period, and turn it counter-clockwise to decrease the soft StopppeﬁOd e o e

qorease
d steplessly from 1 to 5 seconds.

anbe adjuste

trouble Shooting

wave @ multimeter to check voltage and continuity. Use caution when checking high voltage terminals.

@’,’J’" Possible Solution(s)

1. The batteries are not connected to the control pboard or the wire

connection of the batteries is loosened. Please note that a 2*12V batteries is

LED is ON slightly. required t‘O power up the gate opener. The Adapter which is included in the
package is only used to charge the batteries.

The opener does not
run. Only the CODE

e

The opener does not

run. Power LED flash
rapidly (the LED is ON | 1. Battery is over-dsiacharge. Check the voltage of the battery. The voltage

200ms per second, of the battery should above 22V to make the gate opener work normally.

normally the LED ON
500ms per second ).

RSN IS e s

1. Make sure the connection between the battery and control board is correct
and fastening.
run. Pow:

e LER; doos 2. Check the fuse in the control b

o d. Replace the control b

The opener does not
oard. Replace the fuse if it was burnt out.

3. Check the control boar oard if necessary.

gl £t B Y e )

Gate moves a little 1.The selected force is to

and then reverse or | clock-wise to increase the force-

19

o small to move the gate. Turn the Potentiometer A




—

stop

—

2. Disconnect the gate from the gate operator and check that the gate slides
freely without any binding.

1. .Make sure the remote has been programmed to the control board before
Gate opener does not | using.

rin 4080, 2L BEES 2 The battery of the remote may be exhausted. Replace the battery and try
the remote control it again.

3. Check the control board. Replace the control board if necessary.

i e

1. Make sure the connection of the photocell beam is not blocked if the
Gate can open but| photocell is used.

does not close 2. Check if the close limit switch is broken.
3. Check the control board. Replace the control board if necessary.

L
Gate  automatically

opens, but does not

automatically close
-

According to Waste of Electrical and Electronic Equipment
(WEEE) directive, WEEE should be separately collected and
treated. If at any time in future you need to dispose of this
product please do NOT dispose of this product with household

waste. Please send this product to WEEE collecting points
B | cre available.

1. Setting of DIP switch #1 would be wrong. Please set the dip switch
correctly according to the push/pull to opener installation of the gate opener.

20




IMPORTANT

tor
‘ ~ Ey : i aclllﬂ
When you start to adjust the limit switch to determine the gate open and close position. the moving rod mSIdcr desire
should be in fully retracted position which is taken as the Sl :

desired open position (j - installatio” iy
clos.c' position (in push-to-open installation). Base on this position, srl)id:: ]t)l(l):ltilg:;l(\l:'fl)cu]]llt-(t)o'x((l)'ltle:t‘tllc gatc ¢ 0s¢ and oP
position accordingly. See attached Figure. ‘ i
A. Pull-to-Open (Recommended)
I. Actuator is in fully retracted position
2. Check and determine the desired gate open
moving rod toward to gate close direction.
3. Slide the limit switch which is far from the motor b

its
‘e . ex[cnd 1
position with retracted actuator firstly, then operate the actuator 10

. y hand to adjust the gate to desired close position-:
. Inside Propert
ey perty
N
A\ :
B N Limit Switch
\ : (Adjuslab|€)
A \
\
i\
A Moving Rod
1
N 5
\ / ‘
Magnetic Ring
N
-
imit Switch
Gate in the Gate in the Lmz;":xed)
OPENED POSITION CLOSED POSITION

B. Push-to-Open
L. Actuator is in fully retracted position.

2. Check and determine the desired gate close position with retracted actuator firstly, then operate the actuator to extend its
moving rod toward to gate open direction.

3. Slide the limit switch which is far from the motor by hand to adjust the gate to desired open position.

|
= = 1l
T / y
Outside Property Outside Property

|

»

Limit Switch
(Adjustable)

Moving Rod

Gate in the Gate in the

CLOSED POSITION OPENED POSITION Limit Switch

(fixed)
NOTE:

1. The limit switch which is near the motor is fixed in the factory with ONLY 2cm stroke. It is not recommended to slide it
to adjust the opening or closing position. : o :

2. Temporarily secure the actuator in the gate and pull or push the gate by manual before adjusting the l!mit switch. v
inspect for a minimum lem clearance between the gate and actuator, so a- (0 avoid damage or squeezing to the e,
gate operation. For more information, please refer to user’s manual.

isually
ator in




IMPORTANT

Wihen jou stor e adjust e '"T‘f‘ Switch to determine the gate open and close position, the moving rod inside actuator
should be in fully retracted Position which is taken as the desired open position (in pull-to-open installation) or desired
close position (in push-to-open 'nSl‘i.lllulmn). Base on this position, slide the limit switch to adjust the gate close and open
position accordingly. See attached Figure,

A. Pull-to-Open (Recommended)

1. Actuator is in fully retracted position

2. G e M e dcsnrcq gale open position with retracted actuator firstly, then operate the actuator to extend its
moving rod toward to gate close direction.

3. Slide the limit switch which is far from the motor by hand to adjust the gate to desired close position.

Inside Property / Z

Inside Property

Limit Switch
(Adjustable)

Moving Rod

Magnetic Ring

Gate in the Gate in the LIﬂ'EIf:xSe\gll)lCh

OPENED POSITION CLOSED POSITION

B. Push-to-Open

1. Actuator is in fully retracted position.
2. Check and determine the desired gate close position with retracted actuator firstly, then operate the actuator to extend its
moving rod toward to gate open direction.

3. Slide the limit switch which is far from the motor by hand to adjust the gate to desired open position.

£ |

Outside Property Outside Property

Limit Switch
(Adjustable)

Moving Rod

Magnetic Ring

Gate in the Gate in the

CLOSED POSITION OPENED POSITION Limit Switch

(fixed)
NOTE:

1. The limit switch which is near the motor is fixed in the factory with ONLY 2cm stroke. It is not recommended to slide it
to adjust the opening or closing position.

2. Temporarily secure the actuator in the gate and pull or push the gate by manual before adjusting the limit switch. Visually
inspect for a minimum lcm clearance between the gate and actuator, so as to avoid damage or squeezing to the actuator in
gate operation. For more information, please refer to user’s manual.




